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PART—I
( GENERAL STUDIES )

1. How many three-digit numbers 4. 10% loss on selling price is what
are divisible by 5? percent loss on cost price?
1
(A) 180 \(}) 977 %
(C) 120
(C) 10%

(D) More than one of the above

(E) None of the above (D) More than one of the above
\

(E) None of the above

2. The value of
5. A pizza boy delivered two-fifths of

(1_,_ 1)(1+1)(1+ 1) (1_,_ 1) his pizzas on day 1, three-fourths
2 3 4

120 of his pizzas on day 2 and % of
is his pizzas on day 3. On which
A)/ 605 day did he deliver the most

pizzas if he had the same
(B) 300 number of pizzas in the
(C) 405 beginning of each day?
(D) More than one of the above (A) Day 1
(E) None of the above \(9)_ Day 2

(C) Day 3

3. The distance between Delhi and (D) More than one of the above

Agra is 200 km. Suppose you

are travelling from Delhi to Agra (E) None of the above

by a car. If you can maintain an

average speed of 90 km/hr for 6. The cost of carpeting a room
120 km and 40 km/hr for the 18 m long with a carpet 75 cm
remaining distance, how much wide at T 450 per metre is
time will you take, on average, to ¥ 810. The breadth of the room
reach Agra? is

\Q)/& hr 20 min (A) 7m

(B) 3 hr 30 min \}B‘)’ 7-5 m

(C) 4 hr 45 min (C) 8m
(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None of the above
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PART—I
( GENERAL STUDIES )
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7. Two persons A and B complete a 9. An isotropic source of 2 candela
task in 15 days, when they work produces light flux equal to
together. Person A completes the

. . (A) 27 lumen
task in 20 days if he works

alone. How many days will B (B) 4m lumen
take to finish the task alone? \(9 81 lumen
(A) 35 days (D) More than one of the above
(E) None of the above
(B) 25 days
10. The spray bottles used as
(C)/60 days window or household cleaner or

perfume sprayer work on
(D) More than one of the above . )
(A) capillary action
one of the above ernoulli’s principle
(E) N f the ab B lli’s principl
(C) Pascal’s law

8. The sum of the numerator and (D) More than one of the above

denominator of a fraction is 11. (E) None of the above
If 1 is added to the numerator
and 2 is subtracted from the 11. The trade name of basic lead
denominator, it becomes i The carbonate is
fraction is ~(AV white lead
(B) red lead
(A) Z (C) litharge

(D) More than one of the above

6 (E) None of the above
(B) =
12. Which of the following elements
has the largest atomic radius?
3 s
Cy— Lithium
( 8 \(})’
(B) Beryllium
(C) Boron
(D) More than one of the above
(D) More than one of the above

(E) None of the above (E) None of the above
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13. The phenomenon of photo- 17. The book entitled, Gyan Deepak
periodism in  plants was was authored by a great saint

discovered by (A) Salar Masood Ghazi

\(}}/ Garner and Allard \(1;)’ Dariya Saheb
(B) Steward and Salisbury )
(C) Imam Shah Faqih

(C) Thimann and Skoog
(D) More than one of the above
(E) None of the above

(D) More than one of the above
(E) None of the above

14. Silent Valley of Kerala is 18. Which agency in India has
preserved because launched UTSAH portal?
(AY it contains very rare species (Ay  UGC
of plants and animals (B) AICTE
(B) the soil is rich in minerals (C) MCI

(C) the areas of land were used

extensively for agriculture
purposes (E) None of the above

(D) More than one of the above

(D) More than one of the above
(E) None of the above 19. A. P. J. Abdul Kalam Satellite
Launch Vehicle Mission was

15. During normal respiration in a launched on

mammal, the diaphragm is (A) 13th February, 2023
(A) arched (B) 20th February, 2023
(B) flattened (0% 19th February, 2023

(C) lowered
(D ore than one of the above
(E) None of the above

(D) More than one of the above
(E) None of the above

20. In which city was the first

16. The most important cell type pure green hydrogen plant

associated with the immunity of

the bodv i commissioned?
e body is
(A) platelets (A) Hyderabad
\(9/ lymphocytes (B) Mumbai
(C) RBCs (C) Pune
(D) More than one of the above (D) More than one of the above
(E) None of the above \@%\I one of the above
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21. Which year has been declared 25. Arrange the following thermal

by the UNO as the International power projects of India from east
Year of Millets’? to west :
\_(ﬁ}/ 2023
(B) 2022 1. Kota
(C) 2024

(D) More than one of the above 2. Namrup

(E) None of the above 3. Obra

22. Who among the following won )
the 2022 Nobel Peace Prize? 4. Parichha

4)/ Ales Bialiatski Select the correct answer

(B) Nadia Murad using the codes given below.
(C) Maria Ressa
(D) More than one of the above A) 1,2,3,4
(E) None of the above
B) 2,4, 1,3

23. Who is the Chairman of the
State Commission for Backward \(9/ 2,3,4,1
Classes appointed by the Bihar
Government on 2nd January, (D) More than one of the above
2022?

'\(@}/Justice Sanjay Kumar (E) None of the above
(B) Justice Balmiki Prasad
Sinha

(C) Justice Igbal A. Ansari
(D) More than one of the above
(E) None of the above

26. Which type of climate is in India
according to Trewartha?

(A) Savanna type
24. Which was the first movie in

o
Bhojpur: \(I%ubtropical monsoon climate
A)/ Ganga Maiya Tohe Piyari

Chadhaibo (C) Mediterranean type
(B) Kanyadan
(C) Nadiya Ke Paar (D) More than one of the above

(D) More than one of the above
(E) None of the above (E) None of the above
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27. What 1is the normal date 30. South Peninsular Upland is a
of withdrawal of south-west part of

monsoon at Hyderabad?
_(8)~Gondwana Land

(B) Laurentia Land

(A) 1st October

(B) /15th October
(C) Antarctica Continent

(C) 1st November
(D) More than one of the above

(D) More than one of the above
(E) None of the above

(E) None of the above

31. The percentage of population of

28. Which of the following States Bihar with }”espect to India’s
has maximum urbanization? total population is

(A) foa (A)_B-58%
. o,

(B) Maharashtra (B) 10-10%
(C) 12:25%

(C) Karnataka

(D) More than one of the above (D) More than one of the above

(E) None of the above (E) None of the above

32. Which of the following pairs
is not correctly matched with
respect to south of Ganga region

29. ‘Malnad’ region is associated
with which of the following

plateaus of India? in Bihar?

(A) Telangana Plateau (A) Patna-Munger

(B) Maharashtra Plateau (B) Gaya-Arwal

(C) /Karnataka Plateau \(C)/ Patna—Vaishali

(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None of the above

18/HV/M-2023-01-30 (HS)/38-A 10 (AT



27. TeUeTE # sfur-ufeem Aga i At 30. cfaft yerEfe s=gf 1 9w 7

& EmE fafy = 27 N
(A ECICIRCE
(A) 1 TR \/ﬁ
(B) <Rfymm ot
(B) A5 TasT
(C) 3IT2ThiehT HETET
(C) 1 FawR

(D) 39w | ¥ TH ¥ 1M
(E) 3w # A g Tel

(D) 39w | ¥ TH ¥ M
(E) 39 § & *rg T

R GV SIS
28. Frfefam i @ frg oo & mEw o o 3¢ a TR

waifee 87 SIEEAT T i w87
) \(A/s-ss%

(B) #ewg (B) 10-10%

(C) =ieh (C) 12-25%

(D) I # ¥ T § Al (D) 3w # ¥ TF W Al
(B) 3 # & i T (E) S # & ig T

20. ‘HiEMTE’ &9 % wErg Fefafad § A 32. frafafga # & #m-w1 g1 form

A o fohd 9o @ 27 2feqor T & @ Her A& @ran 27
(A) TAATHT T TSR (A) HeT-ER

(B) WERTE il TSR (B) TET-—TEA

(C) /F1esh 1 U8R \(C)/ézm—%wﬁ

(D) 3w W | TH § Afh (D) 39w | ¥ TH ¥ M=
(E) 3w H © *1E T (E) 3w & 15 T

18/HV/M-2023-01-30 (HS)/38-A 11 AT por.o.



33. Who is called the ‘Prophet of 37. Who was appointed as the

New India’? ‘Commander in Chief’ by Birsa
\(}}/Raja Ram Mohan Roy Munda?
(A) Demka Munda

(B) Dayananda Saraswati

(C) Dadabhai Naoroji

(B) Gaya Munda

(C) Sundar Munda

(D) More than one of the above (D) More than one of the above
(E) None of the above \@‘f)/ None of the above

38. Who formed the Bihar Socialist
34. Which revolt is mentioned Party?

lélh ﬁnanggﬂgth d;)lf ]fanlnm (A) Phulan Chand Tiwari and
andra attopadhyay: Rajendra Prasad

(A) /Sannyasi \(?/Phulan Prasad Varma and
(B) Santhal Jayaprakash Narayan

(C) Indigo (C) Raj Kumar Shukla and

Swami Agnivesh

(D) More than one of the above (D) More than one of the above

(E) None of the above (E) None of the above

35. Who was the founder of 0 g HiCh TR T tee
Abhinav Bharat” in London? formed with its headquarters at
W Vinayak Damodar Savarkar Patna?
(B) P. M. Bapat \(9/1908
(B) 1910
(C) 1906
(D) More than one of the above
(E) None of the above

(C) Shyamji Krishna Varma
(D) More than one of the above
(E) None of the above

36. Where was the Ghadar Party 40. Who established a branch of

established? the Anushilan Samiti in Patna
in 1913?

(A) France (A) Ramananda Sinha
(B) Germany (B) Satish Jha
(CY United States of America (C) Sachindra Nath Sanyal
(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None of the above
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PART—II
( COMPUTER SCIENCE )

41. Which of the following is a 44. Select the true statement for
technique that marks the compiler.
beginning of computer commu-
nications?

(A) The input of the compiler is
(A) User Environment source program.

(B) Batch Environment
(B) It translates the source

\j\(yfime Sharing code into object code as a

whole.
(D) More than one of the above

(E) None of the above (C) The output of the compiler
is object code.

42. Which language is better for

writing structured code? (D) More than one of the above
\LA}/PASCAL
(E) None of the above
(B) FORTRAN
(C) BASIC
(D) More than one of the above 45, is used to shift processes

th ti d all
(E) None of the above S0 they are Cf)n.lguous, and 4
free memory is in one block.
43. Which language does a browser
use to display information from

the World Wide Web?

\(/B)/Compaction
(A) Machine code

(B) Assembly language (C) External Fragmentation

(A) Fragmentation

(C) C++
(D) More than one of the above
(D) More than one of the above

\}E')/None of the above (E) None of the above
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PART—II
( COMPUTER SCIENCE )

41. f=fafad & @ FR-d awE IR 44. Compiler &% oIt ¥&d Hu &1 ==

TR Y gEIa A Fafed w27 Hifsr |
(A) ITINTHAT qATaRoT
(A) The input of the compiler is
(B) EEREIEI source program.
\(C)/tm HTHATHTOT
(B) It translates the source
(D) 39w H ¥ UH ¥ M code into object code as a
hole.
(B) v 4 i .
(C) The output of the compiler
42. Structured code fa@md & fau is object code.
FHIF-HT 9T SR 27
\(A/PASCAL \(Wmﬁﬁ@ﬁaﬁw
(B) FORTRAN (E) W?jfﬁ T A P T
(C) BASIC
(D) 30w W | TH § Afh
: . 45. %1 ITAN URATSAT Rl EEANG
(E) v # & Fd T 0 % forg fen s & it 4wl

&, 3R asft gk AU U At 0 A |
43. World Wide Web ¥ SH&RI Wefid
FH & U SRSk foRm wmen w1 3w (A) Fragmentation
AT 27

(A) Machine code \(]?/ Compaction

(B) Assembly language (C) External Fragmentation

(C) C++

D) 39 # ¥ TH ¥ 32
(D) < & @ (D) e s
(E) T ¥ g T (E) 37 & ¥ 18 e
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46. Which of the following is not a

in most
programming languages?

valid variable name

(A) myVariable

(BY 123Variable

(C) _myVariable

(D) More than one of the above

(E) None of the above

47. Secondary memory is the long-

48.

term store for programs and
data while main memory holds
program and data currently in
use. What kind of an organiza-
tion is this?

\Mhysical
(B) Logical
(C) Structural
(D) More than one of the above

(E) None of the above

If a semicolon is not used at the
end of the statement, what
message will be displayed by
C++?

(A) Semicolon missing
(B) Statement missing
(C) Error in statements

(D) More than one of the above

\LE/ None of the above

18/HV/M-2023-26 CSC (HS)/38-A

49. A set of libraries that provides

programmatically access to
some kind of graphics 2D
functions is

\})/ Graphics package

Formatting package
(C) Animation package
(D) More than one of the above

(E) None of the above

50. Which shortcut key is used to

compile and run the program
in C++?

(A) Alt+F9
(B) Alt+F5
(CY Ctrl+F9

(D) More than one of the above

(E) None of the above

51. What does the control unit

generate to control other units?
(A) Timing signals

(B) Command signals

(C) /Control signals

(D) More than one of the above
(E) None of the above
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46. 3R T arett #, e 49. TWHICHEl &1 Th de, S Tumies &9

¥ @ ®F-9 valid variable 9 & H fordt TR o TMThad 2D ®eRTE I
27 TS YEH L B, B

(A) myVariable (A Tt ks

(B)/ 123Variable (B) & i

(C) _myVariable Q) i Y

(D) 30w W | TH § AfUh

(D) 39w W | TH § Al
(E) 3T | ¥ 18 E) s §

47. At AN wEEAT X 22 & fau ] )
S @R 3 wets ger A 50. C++ U TUM &l Hehield 3 I &

FdaE # I # W A o s forw fope widepe gt @1 swm fopan
321 Tt 21 7w b e w7 ST 77

A) /e (A) Alt+F9

(B) dfehen (B) Alt+F5

(C) H=ATHS (C)/ Ctrl+F9

(D) I # & uF 4 Al (D) I & ¥ TF §

(E) 304 & & hrg 7 (E) I & & 15 et

48. HOH H G H icolon T
& T T % semicoon S1. % units A FaE FW  f
’ & control unit FT 39T HLdl 27°

-9 statement Yefdia femnm smam?

(A) Semicolon missing (A) Timing signals

(B) Statement missing (B) Command signals

(C) Error in statements \(}/COHU‘OI signals
(D) 3w W | TH § Al (D) 39w | ¥ UH ¥ 3+
~®)/sd & e (E) i 7 & i
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52. Which of the following is user-
defined header file extension
used in C++?

(A) hg
(B) cpp
2%
(D) More than one of the above

(E) None of the above

53. The most common addressing
technique employed by a CPU is

(A) direct

(B) indirect

(C) immediate

(DY More than one of the above

(E) None of the above

54. What will happen if the following
C++ statement is compiled and
executed?

int *ptr = NULL;
delete ptr;

(A) The  program is not
semantically correct

(B) e program is compiled
and executed successfully

(C) The program gives a
compile-time error

(D) More than one of the above

(E) None of the above

18/HV/M-2023-26 CSC (HS)/38-A

55. In various devices, are
used to overcome the difference
in data transfer speed.

(A) multiple buses
\}Bj/buffer registers

(C) speed-enhancing circuitries

(D) More than one of the above

(E) None of the above

56. What do we use to extend the
connectivity of the processor
bus?

(A)/PCI bus

(B) Multiple bus

(C) SCSI bus

(D) More than one of the above

(E) None of the above

57. In memory mapped 1/O

(A) fhe I/O devices and the
memory share the same
address space

(B) the I/O devices have a
separate address space

(C) the memory and I/0O devices
have an associated address
space

(D) More than one of the above

(E) None of the above

) =0 AR R R



52. fF=fafga 4 9 5 Suehal-uftanfya
TS WIEd UHHRE 1 I9AM C++ |
foran rar 27

(A) hg
(B) cpp
SR
(D) 3w U | TH A Al
(E) 39tk § @ #1$ T

53. CPU 3w ffsa we@ o ugfem
[ETC

(A) direct
(B) indirect
(C) immediate
DY/ 1 & u & v
(E) 3udth # & 1$ T

54. 1 Bl g, afe f=fafad c++ wem
erford TR feurfeq foram stram 27
int #*ptr = NULL;
delete ptr;

(A) T wserd ¥ & T A 7

\(P/W F FEAdT S Hehfeld 3R
Fearfea feram Sman 21

(C) T U Heho-aHT I IaT 2|
(D) 30w W | TH ° Al
(E) 37 | ¥ 18 e

18/HV/M-2023-26 CSC (HS)/38-A

55. fafsm Iusron 4, o1 gmw fa § e
H P B * forg 1 I TR
ST 21

(A) multiple buses

\(?/ buffer registers

(C) speed-enhancing circuitries
(D) 39w | ¥ TH ¥ i
(E) 37 & & 18 e

56. THE 99 6 AR deM & fou en
forerent SUET g 27

\ye)/ PCI bus
(B) Multiple bus
(C) SCSI bus
(D) 39w W | TH § Afeh
(E) 3udeh # & 1S T

57. AH-Ae § fhr MU /0

\(M/o%asaaﬁtﬁﬁﬁ@gﬁqﬁ
= AT T B

(B) I/O 3UHUN 1 Tk el Yal

B &
(C) TERI IR I/O 3UHTN § TH
Trelg IaT T 2l 8
(D) 39w | ¥ TH ¥ 3=
(E) 3udth # & 1$ T
19 [IHUNTHTT A0 i ¢ p.r.o.



58. What is the addressing called 61. How many primary keys can

that is used in an instruction of be there in a table?
the form ADD X Y?
\Mnly 1
(A) Indirect (B) Only 2
(B) Index (C) Depends on number of
columns
(C)Y/ Absolute

(D) More than one of the above

(D) More than one of the above
(E) None of the above

(E) None of the above

62. What will be the output of the
following C++ code?
59. Which of the following correctly

#include<iostream>
declares an array in C++?

#include<string>
(A) array{10}; using namespace std;

int main(int argc, char

(B) int array;
const xargv]| )

\(9/int array[10]; {

h 1[6]=“Hello”;
(D) More than one of the above char s1[6] ello
char s2[6]=“World”;

(E) None of the above char s3[12]=s1+ "+s2;
cout<<s3;
60. SQL views are also known as return O;
J

(A) simple tables
(A) Hello

\(E[Airtual tables
(B) World

(C) complex tables
(CY Error

(D) More than one of the above (D) More than one of the above

(E) None of the above (E) None of the above
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58. 30 Galgd I 1 FEl ST g, forden 61. UF table ¥ fohadl primary key/

ST ADD X Y % & féwr § fmen keys & Tehdl 2/27
7

et 8 B F 1

(A) Indirect (B) e 2

(B) Index (C) il i T W i et @

\(Q/Absolute (D) 3q'§§;5 09 U 9 Al
(D) 3wtk # & T ¥ enfren (E) 3w & © 18 T
(E) # 9 g T
e 62. ffafad C++ He & ARBYge =0
grm?
59, fr=fafgd & @ ®H-91 C++ | Th qf #include<iostream>

%1 HE & H =INd Al o : :
#include<string>

(A) array{10}; using namespace std;

int main(int argc, char

B) int 3
(B) int array; const *argv] |)

\Mnt array[10]; {

D) i F 9w 9§ char s1[6]=“Hello”;
) ' char s2[6]=“World”;
(E) Wﬁﬁﬁéﬁ char s3[12]=s1+“ 7+s2;
cout<<s3;
60. SQL views &l | g oft S return O
ST 2 ’
}
(A) simple tables (A) Hell
ello
(B Virtual tables B) World
(C) complex tables \(9}/ Error
(D) 39 H ¥ T ¥ feren (D) 37® § ¥ % @ A
(B) I & & 1 T (E) S H 9 i3 T

18/HV/M-2023-26 CSC (HS)/38-A 21 [N e.r.o.



63. Which of the following is not 66. If we have not specified ASC or

constraint in SQL? DESC after an SQL ORDER BY
clause, which of the following is
(A) Primary key used by default?
(B) Not null
(A) DESC
(C)Union
(D) More than one of the above \(WASC

(E) None of the above (C) There is no default value

64. Which of the following is not a (D) More than one of the above
valid aggregate function?
(A) COUNT (E) None of the above
\(9)/ COMPUTE
(C) SUM 67. In IA-32 architecture along with

the general flags, which of the

(D) More than one of the above following conditional flags is

provided?
(E) None of the above
(A) TF
65. Who is the father of computer?
(B) IOPL

(A) James Gosling

\(17 Charles Babbage (C) IF

(C) Dennis Ritchie
(D) /More than one of the above
(D) More than one of the above

(E) None of the above (E) None of the above
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63. f=faflga & & =H-w1 SQL # 66. I g4 SQL ORDER BY #is &

constraint &t 87 e ASC a1 DESC =1 ffdy =& fopan
2, @ ffefad & @ wF-w1 fewice w9
(A) Primary key ¥ W foRA STa =7
(B) Not null
(A) DESC
\(C)/dnion
(D) T & & wF @ wfw \(?/ASC
E HH HIE TRl
(B) 37w 88 * (C) =g default value &
64. fmfafga & 4 +H-w1 w 3y (D) 3w § & @ i
aggregate function & 27
(A) COUNT (E) 37 | ¥ 18 e
\(Q/COMPUTE
(C) SUM
67. IA-32 dngeHal U, UM IS & 19,
(D) 3w U | UH A Al Freafafaa @ @ ®F-w1 99d g€ Yem
' fopam <trem 27
(E) 3w & 9 18 7t
(A) TF

65. I FH Tk D a7

A e (B) IOPL
(BY =Tcd seist ©) IF
(C) sfwm f=it
Y ¥ i 8w @

(D) 39w | ¥ UH ¥ 1M
(E) 3w & & 15 T (E) 3w & & 18 7t
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68. Which of the following is true 70. clause creates temporary

about the HAVING clause? relation for the query on which it
is defined.
(A) Similar to the WHERE (A) ITH
1 i fi
clause but is wused for (B) FROM
columns rather than groups
(C) WHERE
(B) Similar to WHERE clause (D) More than one of the above

but is used for rows rather

(E) None of the above
than columns

71. The SQL statement
\(()/Similar to WHERE clause
but is used for groups SELECT ROUND (65.726, -1)
rather than rows FROM DUAL;
prints
(D) More than one of the above (A)/70
B) garbage
(E) None of the above (B) ¢ 8
(C) 726

(D) More than one of the above

69. The method of accessing the I/O (E) None of the above
devices by repeatedly checking
the status flags is 72. The matrix contains m rows and

n columns. The matrix is called
Sparse Matrix if

\(A)/ total number of zero

elements > (m=*n)/2

(A) /program-controlled I/0

(B) memory-mapped /0
(B) total number of zero

(C) 1/O-mapped 1/O elements = m+n

(C) total number of zero

1 ts =
(D) More than one of the above elements = m/n
(D) More than one of the above

(E) None of the above (E) None of the above
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68. HAVING @ € & &R #, fq=fafgd d

Y HH-91 97 27

(A) Similar to the WHERE
clause but is wused for
columns rather than

groups.

(B) Similar to WHERE clause
but is used for rows rather
than columns.

N@ﬁimilar to WHERE clause

but is wused for groups
rather than rows.

(D) 39w | ¥ UH ¥ M

(E) 37 | ¥ 18

69. ar-sr feufd @ A S *:H 1/0

IUHT qF Uged Al fafr R
\Mﬂm—ﬁ'ﬂﬁﬁl/o

(B) TERI-& feFam = 1/0

(C) 1O Bq feram o

(D) 39w H ¥ UH ¥ M

(E) 37 & ¥ *18 T

18/HV/M-2023-26 CSC (HS)/38-A

70.

71.

TWT W M & fau swrEd
T ST g, o WS uiid
[ERIRICIS

\(ﬁ( WITH

(B) FROM
(C) WHERE
(D) 39 U | UH A Al
(E) 3udth # & 1$ T
SQL e
SELECT ROUND (65.726, —1)
FROM DUAL;
e
Ny 70
(B) garbage
(C) 726
(D) 39y | ¥ TH ¥ M
(E) 3udth § & #1g T

72. AfeF & m uREAm 3R n FeM B B

Afgem =1 forar Afgem wvar s 2, afs

\(A/sgrar—cﬁa?fwa’@n
> (m#*n)/28

(B) I Tl FAA TAT = m+n g
(C) ¥ it ol ot HeA = m/n
(D) 39y H ¥ TH ¥ M

(E) 3udth # & #1g T
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73. command makes the 76. Which of the following is the

updates performed by the advantage of the array data
transaction permanent in the structure?
database.
(A) ROLLBACK (A) Elements of mixed data
types can be stored
\Q/COMMIT
(C) TRUNCATE (B) /Easier to access the

(D) More than one of the above elements in an array

(E) None of the above
(C) Index of the first element

starts from 1
74. Which of the following is the
basic approach for joining

tables? (D) More than one of the above

A) Uni JOIN
(A) Union (E) None of the above

(B) Natural JOIN

(C) Subqueries

\_(g/More than one of the above 77. Which data structure is mainly
used for implementing the
(E) None of the above recursive algorithm?
75. What is the time complexity of (A) Queue
an infix to postfix conversion
algorithm?

(B)/ Stack
(A) O(Nlog N) \/

\(B)/O(N) (C) Binary tree

(© o(N?)
(D) More than one of the above
(D) More than one of the above

(E) None of the above (E) None of the above
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73. HAFS transaction g fhT
T L2 ! SO H TR ST 2 |

(A) ROLLBACK
\(1?/ COMMIT
(C) TRUNCATE
(D) 30w W | TH § AfUh
(E) 3udth # & 1S T
74. Joining tables & fau f=fafaa o
¥ - g e 27
(A) Union JOIN
(B) Natural JOIN
(C) Subqueries
Oy T H ¥ & e
(E) 3udth # & 18 7
75. Postfix =R algorithm & fTg
infix 1 T Sfeerar #m 87
(A) O(Nlog N)
BLom)
(©) ow?)
(D) 39w | ¥ TH ¥ M
(E) 39w o & 1§ T

18/HV/M-2023-26 CSC (HS)/38-A

76. fafaflaa # ¥ #M-W array data
structure 1 &4 7

(A) Elements of mixed data
types can be stored

(BY Easier to access the
elements in an array

(C) Index of the first element
starts from 1

(D) 39w | ¥ TH ¥ 1M
(E) 3ww & o 18 T
77. Recursive algorithm &I @] &

% fot gem w0 ¥ fFa  data
structure 1 39N T Sam 27

(A) Queue
\9/ Stack
(C) Binary tree
(D) 39w | ¥ UH ¥ M+
(E) Sudth § @ 1g T

27 IR { e.r.o.



78. What is the postfix expression 81. After performing following set of
for the corresponding infix operations, what does the final
expression? list look contain?

InsertFront(10);

a+ b*c+ (d* €
( ) InsertFront(20);

: . J InsertRear(30);
abc * +de * +

\})/ DeleteFront( );
(B) abc+ xde* + InsertRear(40);

(C) a+ be* de+x InsertRear(10);

DeleteRear( );
(D) More than one of the above InsertRear(15);
(E) None of the above display( );

(A) 10 30 10 15
79. Which one of the following is not
the type of queue? (B) 20 30 40 15

(A) Linear queue \(}2{ 10 30 40 15

(B) Circular queue (D) More than one of the above

(C) Double-ended queue
(E) None of the above

(D) More than one of the above
(E) Alone of the above 82. A linear data structure in which
insertion and deletion opera-

80. The necessary condition to be tions can be .performed from
checked before deletion from the both the ends is
queue is
(A) queue

(A) overflow

(B) circular queue
(B), underflow

(C) rear value \(9/ deque

(D) More than one of the above (D) More than one of the above

(E) None of the above (E) None of the above
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78. UfUd infix Afveats & fau

postfix fir=afh = 87

a+bxc+(d* e

\(ﬁ/abc* +de* +

(B) abc+ *de* +
(C) a+ bc de++

(D) 39t & & % @ arfern
(E) 37w & & =g T

79. fefafad & & FE-91 queue FH THR

& 27
(A) Linear queue
(B) Circular queue

(C) Double-ended queue
(D) 39w H ¥ UH ¥ M

\Mmﬁﬁﬁiqﬁ

80. Queue ¥ deletion ¥ Y W= i

S ATelt AT TG @

(A) overflow

\(Iyunderﬂow

(C) rear value
(D) 3w U | TH A Afh
(E) 37 | & 18
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81. oM % FHfIRad ¥ # FE
e, 1fm =t § o e 87

InsertFront(10);
InsertFront(20);
InsertRear(30);

DeleteFront( );
InsertRear(40);
InsertRear(10);

DeleteRear( );
InsertRear(15);

display( );
(A) 10 30 10 15
(B) 20 30 40 15
\5,)/10 30 40 15
(D) 39Y® | ¥ TH ¥ 1M
(E) 3udth # & 1S 7
82. W& linear data structure, fomH
3 ot & e o faelioe demer
[ERISIR:ET
(A) queue
(B) circular queue
\(y/deque
(D) 39w W | TH § Afh

(E) 37 & ¥ 18 e
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83. If circular queue is implemented 85. Which one of the following
using array having size techniques is not used in the
MAX_SIZE in which array index binary tree?
starts with O, front points to the
first element in the queue, and
rear points to the last element in (A)/Randomized traversal
the queue. Which one of the
following conditions is used to

specify that the circular queue is (B) Preorder traversal
empty?
(A) /Front=rear= —1 (C) Postorder traversal

(B) Front=rear=0

(D) More than one of the above
(C) Front=rear +1

(D) More than one of the above (E) None of the above

(E) None of the above

84. What is the functionality of the

following piece of code? 86. Which of the following is not a

)
public void fun(int x) feature of DBMS:

{

ql.offer(x); (A) Minimum duplication and

redundancy of data

}

(A) Perform push() with push

th tli ti
as the costlier operation (B) High-level of security

(B) Perform push() with pop as

the costlier operation )
(C) Single-user access only

(C) Perform pop() with push as
the costlier operation
(D) More than one of the above
(D) More than one of the above

(E) None of the above (E) None of the above
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83. ¥fd iy war : MAX_SIZE TR 85. Binary tree #, fr=fafea ¥ @ form
It TR T ST ek FrEAifa T TheiTeh 1 SUANT &t o STl 87
srar 7, fad ol e 0 ¥ JE
a1 2, A FAR § Ted ae o 3R
FAT & 3R N Far ° A a & \(zyRandomized traversal
3 war 8| Fefafea & @ fra |
&1 3w T8 [fiE s * fau e
S g f circular queue @reft 27

\Wront=rear= -1
(C) Postorder traversal

(B) Front=rear=0

(B) Preorder traversal

(C) Front=rear +1 (D) 39w U | TH § Al
(D) 39w H ¥ TH ¥ M

E T @ g T
(E) 30 | ¥ 15 (B) w5 & e

y\84. Hig & Fmfafad gore 1 wrlawar =

&7 86. Fefifad § & #-d DBMS #

public void fun(int x) fdrar T 27
{ f
ql.offer(x);
I (A) =TT 1 =AaH e IR AfHE
(A) push() % & ATRIH % &9 H
push() & 919 Y3

(B) FI&T 1 I TR
(B) push() & A& ATRIA & &7 |
pop( ) & AT Y&

(D) 39w | ¥ UH ¥ 3+

(C) wEm ATRYH & &4 ¥ push &
g pop( ) F Y&

(D) 30w W | TH ° Afh
(E) 30w & & 15 T (E) 393 & & g T
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87. Which of the following state- 89. Which of the following options is
ments is not true about the not true about the binary
doubly linked list? search tree?

(A) The value of the left child
should be less than the root
node.

(A) We can traverse in both the
directions.

(B) The value of the right child
should be greater than the

root node.
Mplementation of doubly
(©)

linked list is easier than the The left and right subtrees
singly linked list. should also be a binary
search tree.

(B) It requires extra space.

(D) More than one of the above (D) More than one of the above

(E) None of the above (E) None of the above

90. The expression Y=AB+BC+AC

shows the operation.
88. The values appearing in given
attributes of any tuple in the (A) EX-OR
referencing relation must (B)/SOP
likewise occur in specified
attributes of at least one tuple (C) POS
n th‘e referenced ‘relat1o‘n, (D) More than one of the above
according to integrity
constraint. (E) None of the above
\(ﬁ}/referential 91. What are the canonical forms of
Boolean expressions?
B .
(B) primary (A) OR and XOR
(C) referencing (B) NOR and XNOR
\G/SOM and POM
(D) More than one of the above
(D) More than one of the above
(E) None of the above (E) None of the above
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87. Tmfaflaa & & #=-w *oA doubly
linked list % 9N # gcT &t 27

(A) We can traverse in both the
directions.

(B) It requires extra space.

(@) plementation of doubly
linked list is easier than the
singly linked list.

(D) 3w W | TH § AfUh

(E) 3T | ¥ 18 e

88. wed urery A freft off Tua At ft T
foeiwaret # foEE @ g wm o oft
gehiq ey 0 FH-U-HH T 0l i
ffés fomwarett & @m =iz,
3T T 14T o ITIAR |

\Maeﬁmaa

(B) wnfirs

(C) weffa
(D) 3w U | TH A Afh

(E) 37 & & 18

18/HV/M-2023-26 CSC (HS)/38-A

89. Binary search tree &% R ¥,
fefafga & @ &F-"1 fowce @
Tl 27

(A) The value of the left child
should be less than the root
node.

(B) The value of the right child
should be greater than the
root node.

(C) The left and right subtrees
should also be a binary
search tree.

(D) 39w W | TH § Afh

BT § # HIE T
90. fwaaks  Y=AB+BC+AC,

ST T g2t 31
(A) EX-OR

B SOP
(C) POS
(D) 39w & & T O ek
(E) 3wtk # & 1g T

91. I TFEURH % HAl(ehel &Y FIT &7
(A) OR 3T XOR

(B) NOR 3T XNOR

\(9)/ SOM 3t POM

(D) 39Y® | ¥ TH ¥ M
(E) 37 & ¥ 18 e
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92. Derive the Boolean expression 94. What does the control unit
for the logic circuit shown generate to control other units?

below :
(A) Transfer signals

g (B) Command signals

g (CY Control signals

E (D) More than one of the above
(A /C(A+ B)DE (E) None of the above
(B) [C(A+B)D+E’] 95. To display time in railway

stations which digital circuit is
used?

\.(ﬁ}/ Seven-segment decoder

(B) Eight-segment encoder

(C) [[C(A+B)DIE’]

(D) More than one of the above
: ltipl
(E) None of the above (€) 8 : 3 multiplexer

(D) More than one of the above

(E) None of the above

93. Boolean algebra can be used

96. What kind of transmission
(A) for designing the digital medium is most appropriate to
network that is exposed to

electrical interference?
(B) in building logic symbols
(A) Unshielded twisted pair

(C) in circuit theory W Optical fiber
(C) Coaxial cable
(D) More than one of the above

(D) More than one of the above

(E) None of the above (E) None of the above
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92. = femm T wifSs @fhe & fog, 94. I units & EEE =@ & fau

Fferm srfireatew wmw AR control unit FT Icqd HA &7
A (A) Transfer signals
c (B) Command signals
£ (C) Lontrol signals
\M(A+B)DE (D) 393 # & T @ 31k
(E) 3w & @ 18 7t

(B) [C(A+B)D+E’]

95. &4 ¥RHI # wHI WeRid w & fou

() e BDIE] frm fefSea wffe =1 smam fomanm
ST 27

(D) 39w | ¥ TH 4 ek N

(E) 30 § & Hr5 T (B) IMTS-HTHE THHIE
(C) 8: 3 Aediiaa
(D) 39w H ¥ UF § ek

93. Ffcrad SfiSHTiU I R ‘ ‘

el & ! ! (E) 394 § ¥ HIg T

(A) fefsea wregex i fese & fow 96. fugq T@&yu % Wk H M ad
FFRLE 42T H 2 of 9 o fou ford
TR T AR HEAT 9a8 3T o

(B) %k Sdtent < om0 §
(A) Unshielded twisted pair

(C) wufde fagra & \@/ Optical fiber

(C) Coaxial cable
(D) 0¥ TF G IME

(D) 39w | ¥ UH ¥ M+
(E) 3w & & 1g T (E) 3w & @ 18 7t
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97. Which network topology 100. Which one of the {following

requires a central controller or would breach the integrity of a

hub? system?

(A)/ Star

%) Mesh (A) Locking the room to prevent

(B) Mes theft

(C) Ring

(D) More than one of the above (B)/Full access rights for all
users

(E) None of the above

(C) Fitting the system with an

98. A collection of hyperlinked anti-theft device

documents on the Internet

forms the
(D) More than one of the above
\(y/ World Wide Web (WWW)
(B) e-mail system (E) None of the above

(C) mailing list
(D) More than one of the above

(E) None of the above 101. Which sublayer of the data link
layer performs data link
functions that depend upon the

99. Which of the following is not a type of medium?

step in the Header translation

procedure?

(A) Logical link control sublayer
(A) The IPv6 mapped address is

changed to an IPv4 address .
by extracting the rightmost (B)'Media  access control
32 bits sublayer

(B) The wvalue of the IPv6
priority field is discarded

\(9/ The IPv6 flow label is
considered

(D) More than one of the above

(C) Network interface control
sublayer

(D) More than one of the above

(E) None of the above (E) None of the above
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97. fHE Feas Jdanst & foau, S 100. f=fafaa # 9 *H-u1 s faeen i

o=k =1 &= I SATavEHdT Bt 27 3T T 1 IGEA BT
(A)

(A) Locking the room to prevent
(B) = theft
(C) far
D) i R S - _\(9/112 lslilrsaccess rights for all
(E) 3w & 9 18 T

(C) Fitting the system with an

98. TTie W TRWITH TR T STl anti-theft device
T HUE a1 7, S §

M World Wide Web (WWW) (D) 3T H & T ¥ aferw

(B) e-mail system (E) 39w °§ A 5 T8

(C) mailing list

(D) 39w | ¥ UH ¥ M

EEN , 101. =1 9% Wa &1 FE-91 GRS
(B) I 58 1% 7 T e AT 8, S TSI % TR W

Fefe hear 27
99. TR Hgare Ul #, fAfafea & &
-1 Teh =07 AT 87

(A) IPv6 Hu fhU 7T Ud I weW Imd
32 bits @ IPv4 99 #A

(A) Logical link control sublayer

(B) edia access control
wraet faar smar @ sublayer
(B) IPv6 WdfHehdl Hice 1 T M
e Smar 7 (C) Network interface control
1
(Q IPv6 WaE oad W feem ferm sublayer
ST &
(D) 39w W | TH § Afh
(D) 3w W | TH ¥ Afh
(E) 37 & & 18 (E) 37 & ¥ 18 e
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102. Which one of the following is not 104. When the mail server sends mail
a network topology? to other mail servers it becomes

A) ySMTP client
\Q/(eer—to—peer \()/

(B) SMTP server
B) Rin
(B) g (C) peer
(C) Bus (D) More than one of the above

E) None of the above
(D) More than one of the above =)

(E) None of the above 105. The length of an IPv6 address is
(A) 32 bits
(B) 64 bits
103. How do structures and classes
(A) Structures by default hide (D) More than one of the above
every member whereas
classes do not \(Ey/ None of the above
(B) In structures, members are 106. What is the use of ios::trunc
public by default, whereas, mode?
in classes, they are private
by default (A) To open a file in input mode

(B) To open a file in output

(C) Structures cannot have
mode

private members, whereas

classes can have (C) Ao truncate an existing file
to zero
(D) /More than one of the above

(D) More than one of the above

(E) None of the above (E) None of the above
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102. F=fdafada & 4 +9-w1 T JeaF 104. & A TR, 1 Ul Hal i Aol Ueidl
areAtstt Tt 27 7, @ 78 RIS

SMTP client
(A) Peer-to-Peer \/W/

(B) SMTP server

\(B/ Ring
(C) peer

(C) Bus (D) 3w | ° wh ¥ Mk
(D) T & & T & (B) STE H ¥ s 7
(E) ST # & i Tl 105. IPv6 address I cwam 2t 3
(A) 32 bits
103. C++ H, AT 3R heard wa e (B) 64 bits
Bt 27
(C) 256 bits

(A) fewlee U ¥ TEATE Y® T
wH A 2, Tafh wed &
Bt @

(D) 39w | ¥ UH ¥ M
\(l?/sqﬁ?ﬁﬁﬁﬁé#i

(B) w&=isTi H, wew fewice &9 @
Hrasi-eh Bid &, Siefeh henedi § o 106. ios::trunc TS T ITAN F1 87
fewiee w9 @ f5<ft 2 2

(A) TYE WS H UH BIEA GieHT
(C) wTeret § st wee 7 & wehd

g, STdlfeh HemeT § B Uehd &

(B) 3T3eYC HIS H Tk Higdd WieH!

G/t e ¥ W B F
NG/ (D) v & 3 w & st
(E) 30w & & rg T (E) 393 & & g T

18/HV/M-2023-26 CSC (HS)/38-A 39 [HNNNERTAn e { e.r.o.



107. Which layer of the TCP/IP stack 109. Which of the following is true

corresponds to the OSI model with regard to the ping
transport layer? command?
(A) Ping stands for Packet
( Host-to-host
Internet Generator.
(B) Application (B) The ping command checks
the port level connectivity
(C) Internet between source destina-
tions endpoints.
(D) More than one of the above (C) /Ping summarizes the packet
loss and round-trip delay
(E) None of the above between two IP endpoints.

(D) More than one of the above

108. Which of the following (E) None of the above

statements is/are correct?
110. The correct statement for a

1. It is not possible to combine function that takes pointer to a
two or more files opening float, a pointer to a pointer to a
mode in open() method. char and returns a pointer to a

pointer to an integer is

2. Itis possible to combine two (A) int#+fun(float**, chars*)
or more files opening mode

in open() method (B) int*fun(float*, char*)

\(}2{ int*fun(float*, char*x)

3. ios::in and ios:iout are (D) More than one of the above

input and output file
opening modes respectively. (E) None of the above

(A) 1, 3 111. The private key in asymmetric
key cryptography is kept by

(A) sender

(C) 3 only \(B)/ receiver

(C) sender and receiver

B) 2,3

(D) /More than one of the above
(D) More than one of the above

(E) None of the above (E) None of the above
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107. TCP/IP ¥& &I &H-d wd, OSI 109. i1 wHwe & Wy H, ffafad ¥ @
Tisd AU Wa § A @it 87 FIH-H1 GT 27

(A) Ping stands for Packet

(8)” Host-to-host Internet Generator.

(B) Application (B) The ping command checks
the port level connectivity
(C) Internet between source destina-
tions endpoints.
(D) :«yq’ej;?ﬁ 4 Y TH Y Al \(7/ Ping summarizes the packet
' . loss and round-trip delay
(E) :‘Wﬁ?ﬁ 48 wE between two IP endpoints.
(D) 39w | ¥ UH ¥ M+
108. fefafad § & FH-w/A FoH W (E) I 5 & FrE T
2/37
110. T% %RE & @ & HeF, ST Tk Tl
1. open() fafea § 3 =1 1feres wea %I Uge oidl &, T Ulge ol Uk IR
opening HiE & AN HEAT fIq wsh dfsex a1 & 3R uH diEE W
Hrv T 2 qorfeh TR WiEe 34§, ®

. (A) int=fun(float=*, char *x)
2. open() fafa & 2 = fes wgw

opening e # TR HE (B) int=fun(float*, char*)
g 2| Wnt w:fun(float*, char )

HEUH Y AR
3. ios:in 3R ios::out FHAM: TYE (D) 3w T g%

3R 3BIYE WIS opening WIS (E) 3w # & g
2
111. Asymmetric key cryptography
A) 1,3 H, private key frush gru &t STt
27
B 2,3 (A) Sender

(C) et 3 \(9/ Receiver

(C) Sender and receiver

DL T (D) v i & v
(E) 3w & & Hrg T (E) 393t & & g T
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112. What will be the output of the
following C++ code?
#include<iostream>
using namespace std;
long factorial (long a)

{
if (a>1)
return (a * factorial (a+1));
else
return(1);

int main()

{

long num = 3;

cout <<num<<“l="<<factorial
(num);

return O;

(D) More than one of the above

(E) None of the above

113. Which of the following features
must be supported by any
programming language to
become a pure object-oriented
programming language?

(A) Encapsulation
(B) Inheritance
(C) Polymorphism

\(]%)/More than one of the above

(E) None of the above

18/HV/M-2023-26 CSC (HS)/38-A

114. Which 1is correct syntax of
inheritance?

(A)

(B)

(C)

(D)

(E)

class base_classname
access derived_classname
{/*define class body*/};

class derived_classname
access base_classname
{/*define class body*/};
class derived_classname
base_classname  {/*define
class body*/};

ore than one of the above

None of the above

115. Which one of the following is the
correct definition of “is_array( );”
function in C++?

\Wt checks that the specified

variable is of the array or
not

(B) It checks that the specified
array is of single dimension
or not

(C) It checks that the specified
array is of multi-dimension
or not

(D) More than one of the above

(E) None of the above
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112. f=fafad C++ #e &1 3T=ege 114. FMgHET H 98 ao-fa=mg wE-a1 27

BRI

#include<iostreams> (A) = base_classname : If¥H

using namespace std; derived_classname {/* @i

long factorial (long a) T =t aftanfya ifsres: /),

{
if (a>1) (B) @i  derived_classname
return (a * factorial (a+1)); AR base_classname {/*
else a1t frep 81 aftnfia ifsmos /)
return(1);

; int main() (C) @t derived_classname :
( base_classname {/* @i &=
long num = 3; i1 afefe o /)
cout <<num<<“l="<<factorial !

(num); (D 3‘1@?5 Rk B
return O; .
} (E) 3wt d ¥ =I5 T

(A) 6

B) 24 115. f=fafad & @ #F-4 ‘is_array();’

(C)/ Tasts 2 &1 FEl aRITST C++ | T 87

(D) 96 7 ¥ ¥ A (A) It checks that the specified

(E) 394 H ¥ HI5 &l \/variable is of the array or

not
113. Y5 object-oriented program- o
ming WM W % fru fr o B) It che?ks fth.at ichz .spec1f‘1€d
. array is of single dimension
programming 9 & Fefaftaa § or n};t &

O ford fomiwar 1 | e =te?

(A) Encapsulation (C) It checks that the specified

array is of multi-dimension

(B) Inheritance

or not

(C) Polymorphism
\(9/ T Y
(E) 30w & & g T (E) 3w & & 18 7t

(D) 39w | ¥ TH ¥ 1M
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116. Which of the following state-

ments is

correct about the

class?

V4

(B)

(C)

(D)

(E)

An object is an instance of
its class.

A class is an instance of its
object.

An object is the instance of
the data type of that class.

More than one of the above

None of the above

117. Which of the following can be
used to create an abstract class

mn

the C++

programming

language?

\(?{ By using the pure virtual
function in the class

(B)

(©)

(D)

(E)

By declaring a virtual

function in the base class

By declaring the virtual
keyword afterward the class
declaration

More than one of the above

None of the above

18/HV/M-2023-26 CSC (HS)/38-A

118. Which of the following state-
ments is correct about the C++
programming language?

(A) In C++, both the static and
dynamic types checking are
allowed.

(B) In C++, member function
are allowed to be of the type
const.

(C) In C++, dynamic checking is
allowed.

(DY More than one of the above

(E) None of the above

119. Which feature of OOP is

indicated by the following code?

class student{int marks;};

class topp

er: public student{int age;

topper(int age) {this.age=age;}};

\9/

Encapsulation and inheri-
tance

(B) Inheritance and polymor-
phism

(C) Polymorphism
(D) More than one of the above
(E) None of the above

120. Which of the following natural
elements is the primary element
in computer chips?
(A) Carbon
(B)/ Silicon
( Iron
(D) More than one of the above
(E) None of the above
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116. Class & sR ¥, fF=fafiga & @ -

FUT TEl 27

( An object is an instance of
its class.

(B) A class is an instance of its
object.

(C) An object is the instance of
the data type of that class.

(D) 39w | ¥ TH ¥ M

(E) 37 & ¥ 18 e

117. C++ programming TS H U BTEEF

Tt sH & fou fefaRea o @ feae
I foRaT ST ekt 27

\MBy using the pure virtual
function in the class

(B) By declaring a virtual
function in the base class

(C) By declaring the virtual
keyword afterward the class
declaration

(D) 39w | ¥ TH ¥ M

(E) 37 & ¥ 18 e
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118. C++ programming ¥ &% aR #
ffafed & @ #m-31 FoF w87

(A) In C++, both the static and
dynamic types checking are
allowed.

(B) In C++, member function
are allowed to be of the type
const.

(C) In C++, dynamic checking is
allowed.

DT & & T @

(E) 37 | ¥ 18 e

119. OOP Hi wH-#1 fommwar F=fafaa
FIg R 3 6 78 27

class student{int marks;};
class topper: public student{int age;
topper(int age) {this.age=age;}};

&Y TR R FRieE
(B) =gEH S AgEd
(C) wgFH
(D) 39w W | TH § AfUh
(E) 3udth § & #1$ T

120. f=fafead & @ ®F-W1 THde T,
FrR food § ik ae 27

(A) Carbon

\(B)/ Silicon

(C) Iron
(D) 39w | ¥ UH ¥ M+
(E) 37 & & 18 e
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